ECONOMICS
Second Paper
(a) Applications of Mathematics in Economics
OR
(b) Environmental Economics
OR
(c) Economy of Rajasthan
Time : Three Hours Maximum marks : 100 for Arts
75 for Science
(A) APPLICATIONS OF MATHEMATICS IN ECONOMICS
PART-A ( 4M-31)
1 (i Total costis C =50+ 60x - 12x" + x° then find Average cost and
Marginal cost.
T AP C = 50 + 60x — 1242 + x* Tt S50 T T 790 & 99
Hifeme |
(i) Marginal Revenue (MR) = 20 - 3x%, find the Total Revenue.
Hafe 3t (MR) = 20 - 3x° Tt 373 919 HHog)
(iii) Matrix A and B are given, find A + B and A ~ B.
e AT B R gen €, A+ B a1 A - B I =ifom)
(iv) Define elasticity of demand.
i St wre st it sifen
(v) CES production function.
P E H. I e |
{vi} Define Marginal raie of technical substitution of labour for capital
(MRTSLK).
Tt Goit 3 fora aeeitnt witreenmes it wiisia 5 (MRTSLK) =1 aftafie
“wifna
(vi1) Define elasticity of subsititution.
giorere = @ =t afturfia s
(viii) Define feasible solution in LPP.
Tt v Twe ¥ §ueg T #1 ofonfa s -
(ix) Zerosum game.
T g B |
(x) Open and closed input-output model.
o TE 5% AW HEE
PART-B ( ¥P1-9)

2. () Calculate elasticity of demand if the demand function is 2p =

HHI| bl

=% =T wer 2p=% # 3t i =) dire 9 R

(i) Explam the properties of indifference curve.
e A A fofan)

(i) Demand function p = 10 - 2x, supply function p = 2x Calculate
consumer’s and producer’s surplus in equilibrium.

H B p= 10 - 2x 79 I e p = 2x SR § SO 9 SRS St
ESnk ok oin ) (I '

(iv) Demand function of a monopolist p = 100 — 4q and total cost (T¢) =
50 + 2q, find the monopolist maximum profit output.
THIYRT 0 Wi e p = 100 - 4q AT Fel A (Tc) = 50 + 2q T
sifTa IR = W IR S

(v) Describe the assumption of input-output analysis.

HT-wa FavaTe st Al & qvE w1l
PART-C ( MIT-6)
SECTION-I( @uz-1)

. (@ Maximize uiility U= q,q,, p,=4,p,= 10and Y = 200. 10+10

Iifiran siftaw Ffoe 3 U= q,q,, p, =4, p,= 10 391Y = 200.
(b) Derive the ordinary demand function and the compensated demand
curve from the following—

o=t & & wremer Wi e qen efrges Wi wer Frefaa wife-

U=qyq;"

Y =pg+p24;

OR ( 317T)
If the utility function of a consumer U= 48L + LY —L? then find (i} labour
supply curve (ii) characteristics of labour supply curve and (iii) elasticity
of labour supply curve. - B+6+6
TfE T IUNIET 1 IFEE G U =48L + LY - L & () s wgff =%
(i) %9 % fd =% = v a9 (iii) 59 % 9ff = =} o o i)
SECTION-II( @Us-1I )

. Derive Input demand function from Cobb-Dougulas production function

Q=AL=K". 20
Q = AL® KP ==-376 IR B 189 T o e Sitag
OR ( 319ar)

(@) Derive elasticity of substitution in Cobb-Dougulas production
function Q= AL=KP, 10+10
Q = AL® K* $E-S7e/ IR o & wReas =t & fef
it |

(b) Explain the propertics of Homogenous production function in
context of Cobb-Dougulas production functin Q = AL= K?.
Q= AL* KP F-TTerS SN Wor % T 3 6omig S v 5t
ferdraamsii =it =arem #ifog | '
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(b}

{a)

(b)

@

(i)

(iii)

(iv)

)

SECTION-III( TUs-101 )
Derive the equilibrium price and nature of equilibrium from the
following demand and supply functions. : 10+ 10

Tt A 9 Fo 10 T A 9 W i WM T i |
Di=18-3p,
St=-3+4p,_,
Find the simplex solution of the following LPP-

o=t el i e = Faereies fafa 9o wife-
Maximize =%, +°%,

Subject 10 6x, + 2x, <36

rtuonline.com

5x, + 5x,<40
2x, +4x,528
x,x,20
OR( 314=r)
The mput-output coefficient and final demand vectors are as follows,
find the gross output. 10410

T Yo e st A wien i gen & wwat Ioa I Fi)

0304 0.1 20
A=1050206(F=|15
0.1%3 0.1 23

Find the solution of the game, where A’s pay off is given.
e = T 9a Hifey w2 A w1 i-afe

8 710 s 86
i A=[10912 : (i) A={12136
1159 1110

(B) ENVIRONMENTAL ECONOMICS
PART-A ( WTT-31)

Explain the following (Frafafaa =i wamgw)- 2x10=20

What do you mean by environmental studies.
ety fafy & s T aeaE ¥ 2

Name any two components of eco-system.
afifafat 93 F et @ 9= & - faferd )
Welfare economics.

TR ST |

Draw the environmental kuznet curve.
TATRONS FUAE T 1 T S
Atmospheric changes.

TFATER T |

(vi) National Green Tribunal (NGT)
EE Tia = |
(vii) Ozone depletion.
FIHA A BT ST |
(viii) In which city Earth Summit - 1992 was organised ?
gedt geier-1992 T v o st fean e 2
(ix) Write any two functions of WTO.
o IR WS ¥ WIS & R farad |
(x) 'What for Amrita Devi Smriti Award is given ?
areren 2t i o s forg Ry s 2
PART-B ( 97-9)
(i) Explain market failure by existence of exterpalities. 4
aTEraTel % ST 3 FWU IR W STAEeAR Sl aesd |
(ii) Discuss any four effects of climate change. 4
ey SREd 3 A T @ |
(iti) Explain any four human sources of water pollution. 4
IF WO I HE W AEE T = wwed |
(iv) Explain importance of Biodiversity. 4
I fofaam & wew 5 wHEEa
(v) Discuss main points of Kyoto Protocol. 4
TR W ¥ TS fagei i e |
PART-C( ¥ITT-¥H )
SECTION-I( @WuE-1)

rftuonline.com

. Explain the concept of sustainable development. How it can be

achieved 7 8+12
gfte frepra it sraaron = wowsd 1 8 SR yw frmawa ® 7

OR ( 37941 )
Explain the meaning of Environmental Economic. Enumerate the relation
between economic. 10+10

Ty SR W Y HERd | St T T v & B TE
et ST :
SECTION-HI (@v=-1I )

. Discuss relation between trade and Environment. 20
IR A FARE § 41 gy TEEEa |
OR( 39T )

What is Global Warming ? Explain the protection issues for Global

Environmental concern. 5415

Ay il | 7 finmg # 2 v W wtam e ¥ vl St s
Fifae |



SECTION-II{ @ve-1 )

5. “Indian Environment Protection policy should be modified and laws

shounld be strict.” Do you agree with the statement ? Give your own
suggestions. 10+10
* et waiERer gee fifa § GeityE S =feu aa Fem e e wfey )
7 379 TH HYE W HEHG § 7 S gEE e |

OR( 3194r)
Discuss various multi-national agreements against environment depletion.
Tt wr ¥ fawg fafi= agosts afudl < fad=m it 20

(C) ECONOMY OF RAJASTHAN
PART-A ( 4T7T-31)

. (i) Presently which crops are included under the National food Security
Mission (NFSM) in Rajasthan ?
TdAE H geeT H S-S o wEe upE e e tee F wfEfaa
%2

(i) Which is the nobal agency for generation and conservation of energy
from non-conventional energy sources in Rajasthan ?
ereeT H - Ui S Sl | S SR SO IR S "grE
23 =it Area ge e E 2

(iii) What is the main objective of Aravalli Development Project ?
st e i S SR R 2

(iv) What are the main constraints in Development of Rajasthan ?
e % Tamr | W 9 #E-SE ¥ ?

(v} Write the name of main salt production factories in Rajasthan.
T H A SeA F HIRaE & A et

(vi) What is the main object of Bhamashah Yojana ?
TS A A IEevE w2

(vii) Write the two reasons of increasing population in Rajasthan.
o H weEe 9fs F 3w fafaw

(viii) What is the main object of R.J.8.8.Y. ?
e ST fy T A (SRS IEIEAE.) g SR
FE?

(ix) Write the period of 5th State Finance Commission.
i T fam st =t ey fafae

(x) Write the main objectof MG NRE.GS.
TETT T TET WO T RS AT o HeT Sevd fatan

' PART-B ( ¥71-9 ) '
. (i)  What are the major problems of Sheep Husbandry in the state 74, 3
T H Wg-IeH SIa9RE F WE I JE ?

(ii) 'Write the main objectives of RTICO. rtuonline.com
Tt ¥ WE G T | LR

(iif) Write the name of the Golden-city and Sun-city of Rajasthan. 4, 3
T - uE ogd R & am fafa

(iv) What are the constraints of Industrial development in Rajasthan 7

4,3

Trareer F Areifive faerg st g HE-H E 2 4,3
(v) What are the main Handicrafts of Rajasthan ? 4.3
T ¥ Y iy $H-R ¥ 2
PART-C ( WFI-®)

SECTION-1( @v2-1)

. Discuss the present position of the State of Rajasthan in Indian Economy.

YIS arferaen € goram T5a %t fearfy Fraffta =5ifem) 20, 15
OR ( 3¥ar )
Explain the reasons for famine and drought in Rajasthan. Discuss short
term and long term drought. 10410, 7V2+7'2
T H ST TE @ ¥ RO o SeE WG | TS YO 5N g8
Q Frozd ¥ fau vt 8 SreushTeE Td QSR SgEee i faEe
it |
SECTION-U(@u=-1 )

. Discuss the role and problems of Tourism in Rajasthan and also make

suggestions for its development in near future. 8+6+6, T+4+4
T | yde TEm =ty wE sl @ Seord iy SR e
iy # o faem ¥ fo g@m - dfa

OR ( 3794T )

Explain the importance of small scale industries and handicrafts in
Rajasthan. Analyse the problems of small scale industries and suggest the
measures 1o improve them. 8+8+4, 6+6+3
e # o7 SURT oo TR SEN 6 e W Ay | oY a5
e 1t e w0 U IE @ F0 F T g
SECTION-III ( ©@ue-1II )

. What are the objectives of economic pianning in Rajasthan ? Review th

economic progress made during the period in Rajasthan. 8+12, 645
Torer ¥ enfei Frem & agw wn € 2 Arere % 3 g T
gﬁmwﬁﬁmﬁm|

OR( 31aN) .
Mention the main factors responsible for poverty in Rajasthan. Review
the specific programmes to eradicate the poverty. 10+10, TVa+7V2

gere ¥ Frdean =1y o0 9 WHE T # Soes S| T H
Tt e & At wrimal ot i St



